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1. {20%) Describe the following terms: » i
? I
L
(1)  contestable market T |
.y &
i
{2) long-run Phillips curve id i
|
(3) Nash equilibrium CtE
9}

(4) externality

2. (15%) Wage rates of high-skilled and low-skilled workers are determined by demand and supply in
the labor market. Explain why the wage rate for high-skilled workers always exceeds that for fow- -
skilled workers. On the labor demand side, illustrate the different Vmarginal revenue product caused
by skili differentials. On the labor supply side, show the effects of the cost of acquiring skills on the
supply curves of labor. : :

3. The economy of Coldiand is confronted with the following events:

e The world economy experiences a deep recession
e Llabor costs rise sharply

| * Businesses expect huge losses in the near future

(1) (8%) What will be the combined effect of these events on real GDP and the price level in
Coldland, starting from long-run equilibrium? Explain.

{2) (7%) Explain what the Coldland government and central bank can do to overcome the problems
faced by the economy.
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1. {(15%) Describe the following terms:

(1) consistency  (2) significance leve!  (3) maximum likelihood estimator
2. LetYy, Yy, Yz and Y, be independent, identically distributed random variables from a population with
mean u and variance ¢°. Let w be the average of these four random variables.

{1) (5%) What are the expected value and variance of w in terms of u and 0?? Is w an unbiased
estimator of u?

(2) (5%) Now, consider a different estimator of y:

6= in +—1—Y2 +~3—Y3 +EY4.
10 5 10 5

Is 6 an unbiased estimator of u? Find the variance of 5.

(3) {5%) Which estimator of u is more efficient, w or §? Why?

3. The following sample is drawn from a normal distribution with mean u and variance o*:

X =15 23, 06, 15, 07, 0.4, 2.0, 2.7, 2.1, 3.4,

(1) (5%) Compute the mean, median, and variance of the sample.

(2) (9%) Test the following three hypotheses at the 5% significance fevel:
(8) Ho>2.2, (b)Hp:u<0.9, (c)Ho: o?=0.5.

(3) (6%) Form 95% confidence intervals for mean u and variance o>
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